CLASS : 10th (Secondary) Code No. 105
Series : Sec/Annual-2023
Roll No. SET : A

fas
SCIENCE
(Physics, Chemistry and Life Science)
(Academic/Open)
[ &=t Td il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
77 : 3 §°¢ ] [ g% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o FUT TG F T [ 57 FT-7H § GRT § 15 9 597 27 &
Please make sure that the printed pages in this question paper are 15 in number
and it contains 27 questions.

o Jo7-7¥ H T &y @ G RF 78 FS TEY T A F O FI-YRaw & FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV [TGT Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT HF o de Tel A o SEvIEagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

105/(Set : A) P.T.O.



(2) 105/(Set : A)
o TR T AT To JeT-UH G Haed [@ T To & SARFT FIT-YH YU o 8 A T
frd sit dmfoqs g9t @ Rl 9¥ el Jre @7 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U F97 % T 37 @ {4 F GElEd FY @ [ Fe7-0F {7 T 78 8, g # I 39
T 7 g o qrar w@&hwe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [7397 -
General Instructions :

() @4 geT Sfard &

All questions are compulsory.
(i) TGS T FE [T g

Write the correct option in objective type questions.

(iii) & FTT aT FIT F SARE AFT FT TTEIT 81
Internal choice has been provided in long answer type questions.
(iv) T9% 797 F oI IqD THT 0T 77 8

Marks of each question are indicated against it.

gug — 3
SECTION - A
(s fom)
(PHYSICS)
1. Rl g gite & forg feke fofg 2 2 1
A) 2.5 a4 (B) 25 i
(C) 254t (D) 2.5

105/(Set : A)



(3) 105/(Set : A)

The least distance of distinct vision for normal eye is :
(A) 2.5cm (B) 25cm

(C) 25m (D) 2.5m

2. Fr=fafed & SF-a1 Tpics darEe 787 © 7 1
(A) G

(B) fyeer

<

(C) faga

(D) ®&ar

Which of the following is not a natural resource ?
(A) Water (B) Soil
(C) Electricity (D) Air
3. Fgd a1 1 SI 95 ¢ 1
() TR
(B) =LA
(©) dre
(D) S

105/(Set : A) P.T.O.



(4) 105/(Set : A)

SI unit of electric current is :
(A) Ampere

(B) Newton

(C) Volt

(D) Joule

4. feett a9ty fFe 76 W s9Er ™ R ? ’
(A) T
(B) Me@d
(C) W

(D) I

Tehri dam is built on which river ?
(A) Narmada

(B) Godavari

(C) Ganga

(D) Yamuna

5. ar @4 fegfenm ¥ ? 2

Why do stars twinkle ?

105/(Set : A)



(5) 105/(Set : A)
6. o & AW BGId & 1 T e o ? 2

What are the characteristic of a good source of energy ?

7. 5 fog@ @ & 97 A € 0.5 A Rgd a1 5 e d& Jarfed &k & fga aftey & warfed
fegp ammaer S i) 2

An electric current of 0.5 A flows through the filament of an electric bulb for
5 min. What will be the electric charge flowing through that wire ?

8. fagd Aix #1 & ? fgd AeX & THihd R a9ET qo 3E Rl i 4

What is an electric motor ? Draw its labelled diagram and write its principle.

9. (a) YHI d WEH & [FEEl P & 2

Write the laws of reflection of light.

(b) H T IO a9 B A BIBE (F) T 2F S AA I &1 39 I d Aarwa H
Reffd, SMHR TN TP BT I@M= TR 2

Draw a ray diagram to show the image formed by a convex lens when the

object is placed between principal focus (Fj) and 2F;.
(c) 9 IUQ UV H BHH §U FT BN, PTEeh asbar B4 36 cm § ? 2

What is the focal length of convex mirror, whose radius of curvature is

36 cm?

105/(Set : A) P.T.O.



(6) 105/(Set : A)
ST

OR

(@) VRIS & ST9ACH @ MEHl B fRIT| 2

Write the laws of refraction of light.

(b) fr= Reforl & sged &9 &1 9R AU Td Yo% § 0N IOX dH HROT dfed e
HifoT : 3

() e #) &1 o Gy (Rewge)

(i) TRl ared @ qIed I IUOT

State the types of mirror used for :
(i) headlights in car
(ii) rear view mirror in any vehicle
Give reason to justify your answer in each case.
(c) o & G Tl 1

Write the lens formula.

105/(Set : A)



(7) 105/(Set : A)

gug — §
SECTION -B
RGIEEREEIRY)
(CHEMISTRY)
10. T HIF-8 AT TEEE FHIBOT AT ol B Y 7o © ¢ 1
(A) CO(g)+2H5(g) » CH30H(g)
(B) CO(l)+2H,(g) — CH30H(l)
(C) COlg)+2H,(g)—22"™_, CHL0H()
340°C

(D) CO(g)+2H,(l)—25 > CH30H())

In which of the following a balanced chemical equation with state symbols is
correct ?

(A)  CO(g)+2H3(g) » CH30H(g)

(B) CO(l)+2H,(g) — CH3OH(l)

340 atm

(C) CO(g)+2H3(9) CH3O0H(l)

(D) CO(g)+2H,([()—2C , cH,0H()

105/(Set : A) P.T.O.



(8) 105/(Set : A)
11. MY Tad qRON e SR W &R o @ @ ? 1

(A) UXHIY SAHM

(B) TR i

(C) gt &l de

(D) g &l G

Which of the following forms the basis of the modern periodic table ?
(A)” Atomic mass

(B) Atomic number

(C) Number of Nucleons

(D) Number of Neutrons

12. ST |eT & THEEEG W g 7 1
(A) WfeTH FHEHT
(B) Wif$TA EEZISH FEME
(C) WifeTH FMNIZS
(D) Wifeaw SfieaEs
What is chemical name of baking soda ?
(A) Sodium Carbonate
(B) Sodium-hydrogen Carbonate
(C) Sodium Chloride

(D) Sodium Oxide

105/(Set : A)



(9) 105/(Set : A)
13. BXH TE (FeSO, .7TH,0) A A AMB T W M@ WO R ST A 8 7 2

What is the colour of Ferrous sulphate crystals ? How does this colour change

after heating ?

14. SEHMIHT ARFERAT U Jaele qied aRwig &1 2

What is neutralization reaction, explain with example ?

15. SffFSH (WA FHi% 8) AR T (Jo HHiF 16) @ ARCN & §YE 16 & o &l 3
A T @ Fodgi A [RIT g 3 § diA-ar q ot keegd 8 o A P 2

Oxygen (Atomic No. 8) and Sulphur (Atomic No. 16) belongs to group 16 in
periodic table. Give electronic configuration and which is more electronegative,
why ?

16. (i) S SifFIEE F1 Bd & 7 & A 2
What are amphoteric oxides ? Give examples.
(ii) oTEIEE g g & o IIEXOT died ey 2
Explain the meaning of malleable and ductility with example.
17. (a) =i srfishanatl &0 qU i 1x3=3

() CH3COOH + NaHCO3 —>

105/(Set : A) P.T.O.



(10) 105/(Set : A)
(i) Na+CyHsOH —

T G HyS04

(iii) CoHsOH

Complete the following chemical reaction :

(i) CH3COOH + NaHCO5; —

(i) Na+CoH5OH —

(iii) C,HsOH Hot Conc. H3SO4

(b) () I~ P G TN 1
Make a structure of Benzene.
(i) oo @ e 9 aar ® ? Gl goe df 2

Write a short note on Micelles.

YqT

OR

105/(Set : A)



(11) 105/(Set : A)
() frfaRad Affet @1 HHET HT : 1x3=3

i
() CH;-C-CH,

(iii CHz-CH,-OH
(iiii CH3-CHy-COOH
Write the names of following compounds :

i
(i) CHgz-C-CHj,

(i) CHs-CHy-OH
(i) CHjz-CH,—-COOH
(b) (i) e SATfHAT H1 qUi9 IaTeXr |igq | 2

Explain addition reaction with example.

(i) S @ G S 1
Make a structure of Benzene.

105/(Set : A) P.T.O.



(12) 105/(Set : A)
e - 9

SECTION-C
(cftr o)
(LIFE SCIENCE)
18. HIF-H Y SR Afe e 8 ? 1
(A) P

(B) etfegers

(C) T

(D) SR

Which gland secrete Insulin ?
(A)" Liver

(B) Adrenal

(C) Pineal

(D) Pancreas

105/(Set : A)



(13) 105/(Set : A)
19. SgEsT fhed B & ? 1

(A)  STHIET

(B) IRt
(C) e~
(D) ey

Multiple fission take place in :
(A)” Amoeba

(B) Paramecium

(C) Leishmania

(D) Plasmodium

20. HIF-H YFHhih TR o ? 1
(A) =
(B) &d
(©) (&) &R (B) A
(D) el
Which is a natural ecosystem ?
(A)” Garden
(B) Crop fields
(C) Both (A) and (B)
(D) Pond

105/(Set : A) P.T.O.



21.

22.

23.

24.

25.

26.

27.

(14) 105/(Set : A)
CFCs & faiid iR 1

Write full form of CFCs.

HIF-H HEA A9 I R B & 1

Which structure protects spinal cord ?

Hd dEE OF & AR A $-8 § ? 3 Y R 2
What are the various parts of central nervous system ? Write their functions.

ESITE | S FAEE & R § o 2

Write about spore formation in Rhizopus.

g & HET ST i EEAT & O i 2
Discuss the structure of female reproductive part of a flower.
Hod & WM § H8 1 = 6 AR q @ ' 9 99 e © 4

How do Mendel's experiment show that traits are inherited independently ?
A It T B GOl H A B @ FeEd | que B 6

Explain the structure of human excretory system with the help of a well labelled

diagram.

105/(Set : A)



(15) 105/(Set : A)

OR
Tola STOAT Ao fhd SR ST < & 7 fafreT g fafa 6

How do living things get their food ? Write various strategies.

105/(Set : A)
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o FUT TT F T FF 5 IT-7H § GRT §T 15 T J97 27 &
Please make sure that the printed pages in this question paper are 15 in number
and it contains 27 questions.

o Jo7-7¥ H T &y @ G RF 78BS T T A F O FI-YRaw & FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV TG J& V7§ Yeer, 9T H B AT [rE]
Before beginning to answer a question, its Serial Number must be written.

o FuT-YikH & & @] gi,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o dMe TEl A o SEvIEagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

105/(Set : B) P.T.O.



(2) 105/(Set : B)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
frd sife dafeys 7971 & TR T Frdll T T 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FuT 37 @ {4 & GElEd FY @ [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @ g7 Ear &

All questions are compulsory.

(i) TGS T F TE [T g

Write the correct option in objective type questions.
(iii) & FTT aT FIT F SARE AFT T TTEIT 81

Internal choice has been provided in long answer type questions.
(iv) T9% 797 F oI IqD THT 0 77 8

Marks of each question are indicated against it.

gUs — 3
SECTION - A
(v fomirr)
(PHYSICS)
1. 9%% T & 9 T § e Heam © 1
(A)  TREEH (B) ST9gcH
(C)  feraor (D) & § F13 T

105/(Set : B)



(3)

The splitting of white light into seven colours is known as :

(A) Reflection
(B) Refraction
(C) Dispersion

(D) None of these

2. Fr=fafad § & $iF Sfrareet 36 & 7
(A) BRI
(B) SfTH T
(C) UgMerH
(D) SWId Fell

Which of the following is/are a fossil fuel ?
(A) Coal
(B) Natural gas
(C) Petroleum
(D) All of the above
3. fogd omas &1 SIHE © ¢
(A) @ (B) TR
(C) A (D) S

105/(Set : B)

105/(Set : B)

P.T.0O.



(4) 105/(Set : B)

SI unit of electric charge is :

(A) Watt
(B) Ampere
(C) Coulomb
(D) Joule
4. Fous offele FEl AW ol ? 1
() ITEs (B) FREE
(C) fedr=a D) fEr

Chipko Andolan was started in :
(A) Uttarakhand

(B) Jharkhand

(C) Himachal
(D) Bihar
5. 9Rd & el @ TG ¥ 9 GHEYT & W& ade [rag) 2

Write ancient method of water harvesting in any two states of India.

105/(Set : B)



(5) 105/(Set : B)
6. ZE HivC & J& F|F & feAfeqa ? 2

Explain why the planets do not twinkle ?

7. Trdl ofed ufeRy & gfees 3 R A 12 V T8 B §9fE w1 W Ry § 2.5 mA
R &mT arfed il &1 Sfokie® &1 iy gReid S| 2

When a 12 V battery is connected across an unknown resistor there is a current

of 2.5 mA in the circuit. Find the value of resistance of the resistor.

8. faga Sive 1 & ? fga SIe &1 it o s dun see feia fome 4

What is an electric generator ? Draw its labelled diagram and write its principle.

9. (a) BN aF | 1.50 oNYGCiH B B P e T FAA BIA 21 B A TBA B AA
fpat B ? fatq & weBter =@ 3 x 108ms ™! & 2

Light enters from air to glass having refractive index 1.50. What is the

speed of light in glass ? The speed of light in vacuum is 3 X 108ms™! .

(b) HI3 I U0 aF & A BiBA (F) T 2F & AA RIq 51 39 a8 & A" H
Retfd, |rgsT qon Sepld 1 J@fes g9 2

An object is situated at a position in between the main focus (F}) and 2F
of a convex lens. Draw the ray diagram showing the position, size and
nature of image.

105/(Set : B) P.T.O.



(6) 105/(Set : B)
(€ THIT & Auaad & v fafau 2

Write the laws of refraction of light.

3TeE

OR
(2) Fr=1 Reafodl § 9gad U1 & SR Ay 3
(i) el A @ qIed /99T 399 U
(i) |R A

Y I & HR Fied giRe i

Name the type of mirror used in the following situation :
(i) side/rear view mirror of a vehicle
(ii) solar furnace

Support your answer with reason.

(b) IS I STETA FUOT & Fhal B& (C) W RAT 1 I I & Haiieg & Reifey, q@e aen
YT I @A E) 39Msy| 2

An object is placed at the centre of curvature (C) of a concave mirror. Draw

the ray diagram to depict the position, size and nature of image formed.
(c) aYo1 & g fafag) 1

Write the mirror formula.

105/(Set : B)



(7)
gus — §

SECTION - B
RGIEEREEEY)
(CHEMISTRY)

10. ST 1 G AT &1 TEEE G

(A)
(B)
©)

(D)

CaO
CaCOg
Ca(OH)y

CaOCl,

The chemical formula of quick lime :

(A)
(B)
©)
(D)

CaO
CaCOs
Ca(OH)y
CaOCl,

11. 378 ¥ $H9-91 T4 78 & ?

(A)

der dret

(B) €@ |iel

(C) fereem

(D) i &
105/(Set : B)

105/(Set : B)

P.T.0O.



(8) 105/(Set : B)

Which of the following is not a salt ?
(A)" Baking Soda

(B) Washing Soda

(C) Vinegar

(D) Blue Vitriol

12. YHH ST GROT & GR] d Ured oad § dal S e a7 e ! 1
(A) 8,18 (B) 18,32
(C) 8,32 (D) 18, 18

How many elements in third and fifth period respectively in modern periodic
table ?

(A) 8,18
(B) 18,32
(C) 8,32

(D) 18,18

13. ST AMERAT H IIE died THT| 2

What is redox reaction ? Give an example.

105/(Set : B)



(9) 105/(Set : B)
14. IR fq@@9 A, B, CI DA 1,7, 6 W@ 13 pH & Ru T &1 |rdfe gos & 379 I,
q] 9 Yaq oT, gaa oF a1 MK Famd| 2

Four solution A, B, C and D when tested with a universal indicator, showed pH
as 1, 7, 6 and 13 respectively. Which solution is neutral, strongly alkaline, weak

alkaline or weak acid and strongly acidic ?

15. T XA H Jodeieh G 2, 8, 7 2 2
(2) 39 T & WA G H 5 7
(b) TH 9 9 T & O T THENSD ST SR ?

(M) Ho wiww # & B §) N(7), F(9), P(15), Br(35),

An atom has electronic configuration 2, 8, 7.
(a) What is the atomic number of this element ?
(b) To which of the following elements would it be chemically dissimilar ?

(Atomic no. are given in brackets) N(7), F(9), P(15), Br(35),

16. (i) S oifFdEe #&1 Ad & ? e afed R 2

What are amphoteric oxides ? Give example.
(ii) oM} g qFar H ST I Hieq U 2

Explain the meanings of malleable and ductility with example.

105/(Set : B) P.T.O.



(10) 105/(Set : B)
17. (a) 7= AR & THET HIOT - 3

O
I
() CHz3-C-H

(i) CHs-CH,-Br
(iiy CHz—CH,—OH

Write the names of following compounds :

0]
|
i) CHz-C-H

(i) CHs-CH,-Br

(iiiy CH3-CH,—OH

(b) Tr=faRad & & T, T&hiM U9 Teepled qeanad - 3
CoHjy, CoHy, C3Hg, C4Hyo, C4Hg, CsHg
Identify alkanes, alkenes and alkynes in following :
CoHy, CoHy, C3Hg, C4Hyo, C4Hg, CsHg

STeE
OR

105/(Set : B)



(11) 105/(Set : B)
() frfaRad et @1 HHET HRT : 1x3=3

(i) CHz-C=CH

i
(i) CH;-CH-C-OH

0]

[
(iiifj CHz-C-H
Write the names of following compounds :

() CH3-C=CH

i
(i) CH;-CH-C-OH

0]
I
(i) CHz;-C-H

(b) () e SRR 1 IS dfed auie Rl 2

Explain substitution reaction with example.

(i) S F WEAHD G AT 1

Give structure formula of Butane.

105/(Set : B) P.T.O.



(12)
gl - 9

SECTION - C
(S o)

(LIFE SCIENCE)

18. Jogwa e qrm S § 7
(a) eEg
(B) w@Miar
(C) (A) T (B) aHI
(D) & & P15 T

Regeneration is found in :
(A)” Hydra

(B) Planaria

(C) Both (A) and (B)

(D) None of these

19. Wl FpEd Jgd Fibe @ ddg wd © 7

(A)  STAEIE (B) €I9gY

(C) TN (D) 78 A B &

105/(Set : B)

105/(Set : B)



20.

21.

(13) 105/(Set : B)

Birds are very closely related to :
(A)” Amphibians (B) Reptile

(C) Mammal (D) None of these

Fret & @ &9 wem Ot &% @ & 8 7 1
(A) orefies IqRT

(B) fadiae SusiiERn

(C) TirF IR

(D) T & B Tl

Which of the following belongs to first trophic level ?
(A)” Primary consumer

(B) Secondary consumer

(C) Tertiary consumer

(D) None of these

Oe & AsTises AW fafau 1

Write scientific name of human.

105/(Set : B) P.T.O.



22.

23.

24.

25.

26.

27.

(14) 105/(Set : B)
AU 1 G T B B 7 1

What is the role of decomposers ?

IRt IR AN MR o SHRU 2

Draw a well labelled diagram of a neuron.

39 Frafaly & 9m fofew fes e 8MH @ WEeT IRYS AT d S 81 Th S&le
Qv 2

Name the mechanism by which hormone secreted in precise quantity. Give an

example.

TUEY T 1 B & ? U Sardv gy 2

What are analogous organs ? Write an example.

TR 1 R R @ AR § Rt 4

Write about various contraceptive methods.

(2) o & THIRG o TR W B R TR gad ofX &% 8 § 7 4

Draw a well labelled diagram of stomata. Explain how does the stomatal

pore open and close ?

105/(Set : B)



(15) 105/(Set : B)

(b) aTSNCES % P F R ? 2
What are the functions of transpiration ?
HAYAT
OR
HER A1 & AoM @M & forg Rt g domedt & w fafaw 6

Write down the functions of various digestive enzymes to digest the food in
alimentary canal.

105/(Set : B)
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o FUT TT F T FF 5 I9T-7H § GRT §T 15 79 797 27 &
Please make sure that the printed pages in this question paper are 15 in number
and it contains 27 questions.

. Jggw#m#w#wwwmww%#mm—m%ﬁ@-ww
/

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI FIT P TV [VGT @ FXT @ YEw, F9T F HHH ST [orad

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF o e T& Al g sravaEagar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

105/(Set : C) P.T.O.



(2) 105/(Set : C)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U go7 % FUT 37 @ Y4 I Ghaa # @ [ 59774 {7 7 @@ & Yher 3 U 54
T 7 g o qar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT Sfard &

All questions are compulsory.

(i) TGS T FE [T g

Write the correct option in objective type questions.
(iii) & FTT AT FIT F SARE AFT FT TTEIT 81

Internal choice has been provided in long answer type questions.
(iv) FEF F97 & 3% IGH G790 TT &/

Marks of each question are indicated against it.

guE - &

SECTION - A
(v Form)
(PHYSICS)

1. QO & 91 g8 & 1 a1 69 FR9T § fREs a1 & ? 1
(A)  STbr (B) fder
(C) ey (D) W&

105/(Set : C)



(3) 105/(Set : C)

Colour of the sun at sunrise is red due to :
(A) Scattering

(B) Dispersion

(C) Refraction

(D) Reflection

2. 79 ¥ ¥ H9-d1 desy 9 2 ? 1
(A) HEN SEAFAES
(B) N

(C) i
(D) = & &g T

Which of the following gas is greenhouse gas ?
(A) Carbon dioxide

(B) Methane

(C) Oxygen

(D) None of these

105/(Set : C) P.T.O.



(4) 105/(Set : C)
3. foga ufle &1 SI 7F © ¢ 1

(A) AT
(B) TR
(C) o
(D) FA™
SI unit of electric resistance is :
(A) Volt

(B) Ampere

(C) Ohm

(D) Coulomb

4. TG RsH g R & o4 T 1

(D) ST g

105/(Set : C)
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Meaning of second R in five R's is :

(A) Reduce
(B) Recycle
(C) Reuse

(D) All of the above

5. Siadl e @l A Ewar & ? 989 § auie s 2

What are the disadvantages of fossil fuel ? Explain in brief.

6. F3 [gd S 220 V & I § TG 31 A 9 § 0.50 A fIgd R s@nfed et 8, af
ee 1 QRS T © 7 2

An electric bulb is connected to a 220 V generator. The current is 0.50 A. What
is the power of the bulb ?

7. frEr ofafRer 9= & ST S P TR HIeW I Udiid 2l & 7 2

Why does the sky appear dark instead of blue to an astronaut ?

8. fEgd diey 1 & ? fgm Mex &1 Amiha R SRY qun see Raeid i 4

What is an electric motor ? Draw its labelled diagram and write its principle.

105/(Set : C) P.T.O.



(6) 105/(Set : C)
9. (a) YA d WA » MW g 2

Write the laws of reflection of light.

(b) HE TE FIAA AT H T PR (C) TN BHA (F) & 99 & Req 21 o9 9] &
wfcfer @ Rafa, @esT qon Spia ® 3@ gR1 &9y 2

An object is placed between the centre of curvature (C) and focus (F) of a
concave mirror. Draw the ray diagram to depict the position, size and

nature of image formed.

(c) TE I H BHA G0 T HIOTY FTehl &t 2.0 Dol 76 e MR d g & ¢ 2

Find the focal length of a lens of power —2.0 D. What type of lens is this ?

3TeE

OR

(a) UHINT B UG b W e 2

Write the laws of refraction of light.

(b) I3 G A o9 d 2F & W Rud 81 39 a8 & Wit A Raafd, R o v
1 G T 2

Draw a ray diagram to show the image formed by a convex lens when an

object is placed beyond 2F;.

105/(Set : C)
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() oH a’l ¥ Iaq qUYT Hl USH-399 qUY7 & &9 § q4adr i ad © 7 2

Why do we prefer a convex mirror as a rear view mirror in vehicles ?

gug — §
SECTION - B
RGIEEREEIEY)

(CHEMISTRY)

10. A, A Jo1 58 § JeAd: 1 Gl SO § 7 1
(A) e (B) FEIEREIe
(C) & (D) fqeie=

In rice, potatoes and bread what is mainly found ?
(A) Proteins (B) Carbohydrates

(C) Fats (D) Vitamins

11. S & @Rl HERC 8N & U Fhees ST X & ¢ 1
(A) W BRREES
(B) WfeT™ FHEHT
(C) wIfeam FiES

(D) dfcsEm FARTES
105/(Set : C) P.T.O.
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Which salt is used in the removal of permanent hardness of water ?

(A) Sodium Hydroxide (B) Sodium Carbonate
(C) Sodium Chloride (D) Calcium Chloride
12. §96-17 (Group-17) & T@l & B4 HIN § b soag™ aid & ? 1
(e et )
(A) 8 (B) 7
(€) 10 (D) 2

How many electrons are in outermost shell of Group-17 ?(Modern Periodic Table)
(A) 8 B) 7
(C) 10 D) 2

13. BXH T@e (FeSO, . 7TH,O) B CT & a2 ? 30 ™M i W T R Ig S g 7 2

What is the colour of Ferrous sulphate crystals ? How does this colour change

after heating ?

105/(Set : C)



(9) 105/(Set : C)
14. IR f4@@9 A, B, CT D %9T: 8, 6, 13T 2 pH & RU ¢ ¥ |rdfe gos & 379 I,
] 9 Yaq oT, gaa T a1 MR Fam| 2

Four solution A, B, C and D when tested with a universal indicator, showed pH
as 8, 6, 13 and 2 respectively. Which solution is neutral, strongly alkaline,

strongly acidic and weakly acidic or weakly alkaline ?

15. TEgeM (WA FAleh 7) ofR R (WA HHi% 14) o 9ol & &8 15 & O ol
S AFI qdl & gadglve [Geare RT3 | Hi-|1 qw Al ROTagd e ol i ?

Nitrogen (Atomic No. 7) and Silicon (Atomic No. 14) belong to group 15 in
periodic table. Give electronic configuration and which is more electronegative,

why ?

16. (i) @hga Al @1 8 ? SaEXr |ied av H 2
What is reactivity series ? Describe with example.
(i) orfparal & fer e ffag 2
Write the equations for the reactions of :
(a) 99 & T A

Iron with steam

105/(Set : C) P.T.O.



(10) 105/(Set : C)
(b) I B T BfesEH

Calcium with water

17. (a) [rfoiee sifiharett I HieTC 1x3=3
() CH3COOH +NaHCO3 —
(ii) Na+CyH50H —

(i) C,HsOH TH JFS HpS04

Complete the following chemical reactions :

() CH3COOH + NaHCO; —

(i) Na+CyHsOH —

Hot Conc. HpSO4

(iii) C,HsOH

(b) () I P G T 1
Make a structure of Benzene.
(i) oo @ e 9 @ ® ? Gl goe dfg 2

Write a short note on Micelles.

105/(Set : C)
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OR

(a) FfoRea AR ST TFHT HIFT 1x3=3

(@)
I
() CHz-C-CHs

(i) CHs-CH,—-OH

(iiiy CHj3-CH, - COOH

Write the names of following compounds :

O
I
() CHs-C-CHj

(i) CHs-CH,—-OH
(iiiy CHjz—CH,—COOH

(b) () Epad ATBHAT H JUI IIEOT Tled BT 2

Explain addition reaction with example.

(i) SN @ G S 1
Make a structure of Benzene.

105/(Set : C) P.T.O.



(12)
gl - 9

SECTION - C
(S fomm)

(LIFE SCIENCE)

18. -9 MM URUl  gRE A1 €T H © 7

19.

A) oAt
(B) W
(C) &R
(D) AR o

Which hormone inhibits the growth in plants ?
(A)” Auxin

(B) Cytokinins

(C) Gibberellins

(D) Abscisc acid

gl & QY H HIH-91 STIAE! F&0 8 7
INERSER B (B) T i
(C) (A) 3R (B) At (D) | F

105/(Set : C)
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(13) 105/(Set : C)

Which is a recessive traits in pea plant ?
(A)" Tall plant

(B) Round seed

(C) Both (A) and (B)

(D) White flower

20. A& ¥ S99 fhed =idr 7 7 1
A) fades (B) sgEsH
(C) T (D) ST qHEE

In Leishmania reproduction take place by :
(A)" Binary fission

(B) Multiple fission

(C) Budding

(D) Spore formation

21. IR Hed 9 37 9 Tg @d § 7 1

Gregor Mendel belonged to which country ?

105/(Set : C) P.T.O.



22.

23.

24.

25.

26.

27.

(14) 105/(Set : C)
it fopar # AR & o i § 7 1

What is the role of the brain in reflex action ?

uReig dftrer dF & e 9 @ E ? 3 e i 2

What are the various parts of peripheral nervous system ? Write their functions.

AN & @y o] erfwar . & ? 2

What are the advantages and disadvantages of ozone ?

B T HY o U © [ Siared o R 8 7 2

How do we know how old the fossils are ?

7 BT 3 o9 3T H Nu=E el A ? 4

What happens when the egg is not fertilized ?

(@) e GeRIY] I HTEAT H AHilh =5 SHEU 3
Draw a labelled diagram of structure of a nephron.
(b) WA H 9 e TR &9 § 7 3

How is urine formed in human beings ?

105/(Set : C)



(15) 105/(Set : C)
e

OR
(2) A F e & Fraiafy & ave i 3

Describe mechanism of respiration in human beings.

(b) () fFsxMT? 1
What is Lymph ?
(i) € Y sAA & 7 1

How does it form ?

(iii) TP ¥ P & ? 1

What are its function ?

105/(Set : C)
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(2) 105/(Set : D)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
frd sife dafeys 7971 & TR T Frdll T T 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FuT 37 @ {4 & GElEd FY @ [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT sfard &

All questions are compulsory.

(i) TGS T F FE [Hed g
Write the correct option in objective type questions.
(iii) & T AT FIT F SARE AFAT FT TTET 81
Internal choice has been provided in long answer type questions.

(iv) FEF F97 & 3% IGH G790 T7 &/

Marks of each question are indicated against it.

U —
SECTION - A
(e fm)
(PHYSICS)

1. A =45 B 9 ) el 9] & i 90 8, d8 © 1

(A) i (B) 3fteqed
(C) uRamE (D)  gel
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(3) 105/(Set : D)

The human eye forms the image of an object at its :
(A) Cornea

(B) Retina

(C) Iris

(D) Pupil

2. TRIF & 58 T & U g ud ol e aifis sger & e &1 g 8 7 1
(A) faend (B) S

(C) I (D) ST

Which of the following community of Rajasthan has a religious tenet of

conservation of forest and wildlife ?

(A) Bishnoi (B) Jain
(C) Agarwal (D) Brahmin

3. fawaiqx &1 SI 76 B : 1
A) dee (B) SIa
(C) dr (D) oA

105/(Set : D) P.T.O.



(4) 105/(Set : D)

SI unit of potential difference is :

(A) Volt (B) Joule
(C) Watt (D) Coulomb
4. T WEE A B ARA T 7 ’
(A) 1945 (B) 1965
(C) 1985 (D) 1999

Ganga action plan was started in :

(A) 1945 (B) 1965
(C) 1985 (D) 1999
5. AR FH B W HH & 71 A &0 S § 7 2

What are the advantages and disadvantages of using a solar cooker ?

6. Thicd & G99 QI T FI ST B © ¢ 2

Why does the sun appear reddish early in the morning ?

7. @5 [T MeX 220 V& fagd ¥id & 5 A g 10 dar 81 Jiex @ af FeiRa s

An electric motor takes 5 A from a 220 V line. Determine the power of the motor.

105/(Set : D)



(5) 105/(Set : D)

8. fagd s @ & ? fga St &1 Amited foet aesy qun gee Rl fafaw 4

What is an electric generator ? Draw its labelled diagram and write its principle.

9. (a)

(b)

(©

(2)

105/(Set :

TR B A 3 g faRe 2

Write the laws of reflection of light.

P TG IOG a9 T BiHd (F) TN THRE b5 (0) & 74 Red &1 39 9% @
gt & Rafdr, et de Sl 1 3@ g asiiE 2

An object is placed between the main focus (F) and the optical centre (O) of
a convex lens. Draw a ray diagram showing the position, size and nature of

the image formed.

T @ ar o A B ? Feell 9 @ e emeltex (1D) e @ uRifa @i 2

What is the power of a lens ? Define 1 Dioptre (1D) power of a lens.

STeE

OR

TR & STaad & a9 faiaw 2

Write the laws of refraction of light.

D) P.T.O.



(6) 105/(Set : D)
(b) s TEG FAAA YO & Tebel dx (C) TN & BIbd (F) & 784 RIq 8, 39 a8 &
wfcfers @ Rafa, @esT qon Fpia ® @R gR1 &9y 2

An object is placed between the centre of curvature (C) and principal focus
(F) of a concave mirror. Draw the ray diagram to depict the position, size

and nature of image formed.

(c) I 9 B BHA T A B (T &9 2.0 D3| T8 BA FIR dFM @ 8 ¢ 2

Find the focal length of a lens of power —2.0 D. What type of lens is this ?

geg — §
SECTION - B
RGIEEREEIEY)
(CHEMISTRY)
10. 59 gfkr & Ve & o R @ A & egem 9 9 § 7 1
(A)  SToEE
(B) BRI
(C) fereemu=
(D) IR

105/(Set : D)
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Nitrogen gas prevent to chips in bags from a process of :
(A) Reduced
(B) Hydrogenation
(C) Displacement
(D) Oxidised
11. 34 § $H-91 e T 5 & & ? 1
(A) i & ™

(B) WHa &

(C) = g M

(D) dertyE

Which following solution is acidic in nature ?
(A)” Lime juice

(B) Human blood

(C) Slaked lime

(D) Antacid

105/(Set : D) P.T.O.
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12. BEENM AN & B fea B ? 1
(A) 20 pm
(B) 37 pm
(C) 42 pm
(D) 50 pm

What is radius of hydrogen atom ?

(A) 20 pm
(B) 37 pm
(C) 42 pm
(D) 50 pm

13. HW The & Ao § dle & Ths B S W FT BNl 8, AR B THHT 3T T
| 2

What do you observe when a piece of iron is dropped in copper sulphate

solution ? Give the chemical reaction.

14. EE9 ¥ pH ©d 991 & ¢ GHIET 2

What is pH scale in chemistry ? Explain.

105/(Set : D)



(9)

15. T% QXA &1 Il e 2, 8, 8,28 ¢
(2) I9 O B WAN] H&AT A S ?

(b) 3§ & & Th ARH & g AR

An atom has electronic configuration 2, 8, 8, 2 :

()
(b)
16. (a)
(b)
17. (a)

105/(Set :

What is the atomic number of this element ?

Give a compound formula for this element.

foreamesT 1 & ? Sareer i

What is Calcination ? Give an example.

dle & foRE STaged aitsRter W €8 7 e fafew

Write a short note on electrolytic refining of Copper.

ferifeiiaa et & TRt HifT

@)

(i)

D)

CHj3 - CH, — CH, — CHy

CHj3 — OH

105/(Set : D)
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(10) 105/(Set : D)
(i) CHgz-CH, —ClI

Write the names of following compounds :
() CHz3-CH,-CHy-CHj
(iii CHz-OH

(iiiy CHgz—CHy —CI

(b) UThY, URHM T UThIE Pl SAIEXUT Ay T HiofT| 3

Explain alkane, alkene and alkyne with suitable example.

T
OR
() Frrifiiee erferisbarett 1 g forC - 1x3=3
(1) CH3 —CH2 —OH+02 -
&TF KMnO4 TH

(i) CH3CH,OH

(il) CH3CO0C,Hs—N29H

105/(Set : D)
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Complete the following chemical reactions :

(1) CH3—CH2—OH+02 —>

.. Alkaline KMnO4 hot
(11) CH 3CH 20H

(il) CH3COOC,Hs—N29H |

(b) TJQ q STEIC BRFGIBET 7 R &7 I Y T HifoT| 3

Give difference between saturated hydrocarbon and unsaturated

hydrocarbon with two suitable example.

gus - g
SECTION - C
(S fo=m)

(LIFE SCIENCE)

18. AT ¥ == el aar ® 7 1
(A)  sfEEE (B) e T
(C) T (D) A=

105/(Set : D) P.T.O.
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Where does fertilization take place in human being ?
(A)” Ovary

(B) Fallopian tube

(C) Uterus

(D) Vagina

19. SRl Mot @ g godt & foIQ o2 SR HH-8 Foil faebied & B ? 1
(A) T
(B) G M

(C) Siehralt
(D)

Which vegetable is developed for sterile flowers from cultivated wild cabbage by

selection ?

(A)" Cabbage
(B) Cauliflower
(C) Broccoli

(D) Kale

105/(Set : D)



20. HF-A1 FHEH TG & 7

21.

22.

(A) ad
(B) e
©) &

(D) ST

Which is an artificial ecosystem ?
(A)" Forest

(B) Pond

(C) Lake

(D) Garden

AT & A AR B ?
What is meant by characteristics ?

HF-9 g STIgeH H HE P & 7

Which organisms act as decomposers ?

105/(Set : D)
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(14) 105/(Set : D)
23. fgd e & ST H F A kil § 7 2

What are the limitations to the use of electrical impulses ?

24, HE-H A g S AT F & 7 W SN BN FH T STREEGT | T B § 7 2

Which gland secrete the growth hormone ? What happens due to deficiency and

excess of this hormone ?

25, gUSId 3T 97 B ? U Il ST 2

What are homologous organs ? Give an example.

26. ATTRY  THY TASHAl X TSH § HH-9 IRaa f@e 3q § ? 4

What are the changes seen in girls and boys at time of puberty ?

27. GNd G9T 9 P G B AHihd =B @ gerar ¥ aue S 6

Explain the structure of human respiratory system with the help of well labelled

diagram.

YqT
OR
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(@) b Tl 1 PRI HIC H THib = BT
Draw a well labelled diagram of cross section of a leaf.

(b) THIT HQATOT B QA B ar A geel @ fafeg

Write the various events which occur during photosynthesis.

105/(Set : D)
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